
Introduction to Biostatistics (BIOS 4120) 
Breheny 

Quiz 3 (Practice) 

1. According to the Child Health and Development Study, the average pregnancy length
(for women who do not suffer a miscarriage) is 279 days, with a standard deviation of
16 days. Furthermore, the distribution is approximately normal. Calling day 279 the
"due date",

(a) What percent of women go into labor more than 4 weeks early (28 days before
their due date)?
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(b) What percent of women go into labor within 3 days of their due date?
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(c) If five women are pregnant, what is the probability that at least 1 of them will
give birth within 3 days of their due date?
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(d) If five women are pregnant, what is the probability that the average length of

their pregnancies will be within 3 days of the national average?
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